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Answer all questions in t##s section in the spaces provided.
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1. The following equation summa&i@%s two chemical reactions
N
AQ,@
Glucose + Oxygen —\“—" Carbon IV oxide + water + energy
B
(@) Name the chemical reactions indicated by each of the arrows:
A\
Al e D etk et e e (1mk)
B:.....Q.}? .......................................................................................... (1mk)
(b) Nf{@% the cell organelles in which each of the reactions A and B occur.
Q,ag?x: ................................................................................................... (1mk)
@Q/ 2 (1mk)
Q‘L‘ (c) (i) Name the energy-rich compound formed directly as a result of the reaction indicated
Q&Q by the arrow A. (Imk)
2
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\\
QOK (i) Name the form of energy in the reaction indicated by arrows B. (Imk)
(i) State two uses of the above energy-rich compound in (c) (i) above. (2mks)

2. The diagram below represents the apparatus that can be used to investigate an aspect of

gaseous exchange in man. o 1Bl

B . B -

A person placed his mouth at tube M and breathed in and out several times through the tube.

(a) State the purpose of clip 1 and 2 in this experimental set up. (2mks)
[ 0
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(b) What results are expected after breaRWg in and out several times? (2mks)
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(c) State two advantage§& breathing through the nose rather than the mouth. (2mks)
\
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3. The diagram bg{o?v shows the results obtained in an experiment on graph of a bean seedling.

The same marks
After 5 days

Start of Experiment

(@) Suggest the aim of the experiment. (Imk)

(c) Account for the observations made in the regions A and C.
Region A (2mks)

4. Haemophilia is a sex-linked disorder in human. It is caused by a recessive allele (h) present
in X-chromosome. A normal man marries a carrier female.

(a) What would be the genotypes of the parents of this marriage?
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(b) What would be the genotypes of til@offsprings in the marriage above? Show your
Q

working. Q@Q (5mks)
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& (c) From the offsprings obtained in (b) above, give the ratio of completely normal children
@ to haemophilic children. (Imk)

(a) State the defect. (Imk)
(b) On the diagram, illustrate how the defect can be corrected. (2mks)
(c) State two advantages of having two eyes in human beings. (2mks)

(d) State the adaptations of the following parts of a mammalian eye.
(i) Choroid (2mks)
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Answer gquestion 6 (Compulsory) aﬁgany other one question from this section.

6. The table below shows how the quo%ﬁ}ities of sweat and urine vary with external temperature.

External temperature °C \é;ﬁ" 5 10 |15 |20 |25 |30 |35
Urine cm®/ h \Q’@ 100 |90 80 70 60 50 40 30
k\
Sweat cm®/ h § 5 6 10 15 30 60 120 | 200
(a) Using the same\a}es, draw graphs of quantities of urine and sweat produced against the
AN
external ten;\p%rature. (6mks)
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(b) At what temperatures are the amounts of sweat and urine produced equal? (Imk)
(c) Account for the amount of sweat produced as the temperature rises. (3mks)

(4mks)



o~
................................................... P
<
(e) Explain how the following help in teQstberature regulation when it is cold.
() Hair & (3mks)
R
............................ (B
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(i)  Blood ves\séﬁ&A (3mks)
é\
...... 4\.
B
R
Q ............................................................................................................
7. (a) ,g%scribe the role of each of the following hormones in the human menstrual cycle.

< (i) Follicle stimulating hormone. (2mks)

Q‘L‘ (if) Luteinising hormone. (3mks)
Q&Q (b) Describe the digestion of starch in man. (15mks)
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< 8. Explain how the various activities of man have caused soil pollution. (20mks)












